# Location Cause transition to variable

0 (Start) argv[3]

1 toplev.c:4755 name

2 toplev.c:2909 dump_base_name

3 c-lex.c:187 finput— _IO0_buf_base

4 c-lex.c:1213 nextchar

5  c-lex.c:1213 yyssa[41l]

6 c-typeck.c:3615 yyssa[42]

7 c-lex.c:1213 last_insn—fld[1l].rtx
—fld[1l].rtx—f1d[3].rtx
—fld[1l].rtx.code

8 c-decl.c:1213 sequence_result[2]
—f1d[0].rtvec
—elem[0].rtx—f1d[1].rtx
—fld[1l].rtx—f1ld[1l].rtx
—fld[1l].rtx—fld[1l].rtx
—f1ld[1l].rtx—fld[1l].rtx
—f1d[3].rtx—£fld[1l].rtx.code

9 combine.c:4271 x—£f1ld[0].rtx—£f1d[0].rtx



